SUPERSTAR Multiplication Name:
WORKSHEETS Word Problems Date:

A waitress earns $6.75 an hour. A car travels 60 miles per hour.

She worked 7 hours. How much did JHow many miles can it travel in 3

she make?

There are |4 bushels of apples. The library shelf at school
There are 125 apples in each bushel. Jholds 42 books. There are |7 shelves
How many apples are there total? in the library. How may books total

are in the library?

A bookstore is having a sale on There are 2 cupcakes per person at
books. You can purchase |0 books at Ja party. There are 78 people.

$2.75 each. How much would 10 How many cupcakes are there?
books cost?
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A basketball weighs |.3 pounds. How | There are 67 peaches in a box. How
many pounds does 8 basketballs many peaches are in |4 boxes?

weigh?
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SUPERSTAR Multiplication Name:
WORKSHEETS Word Problems Date:

A waitress earns $6.75 an hour.
She worked 7 hours. How much did

she make?

There are |4 bushels of apples.
There are 125 apples in each bushel.

How many apples are there total?

$2.75 each. How much would 10
books cost?

$2750

A basketball weighs 1.3 pounds. How
many pounds does 8 basketballs
weigh?

|IOH pounds
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A car travels 60 miles per hour.

How many miles can it travel in 3

The library shelf at school
holds 42 books. There are |7 shelves
in the library. How may books total

are in the library?

/M

There are 67 peaches in a box. How

many peaches are in |4 boxes?
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